CAT.No.5234

KONAN

a-Fr

HAI?41 AR

s75-(-9 (CPE1HS|THERA/U S

MHZRITA ZAERE BEFRDIELICEDER

EE]

il EEEEMax. 250 CE TOME MDD T,

B FHEBCER-BHASFONRELTEA
UCIRIFEY,

i |1

%S EfRZES gwv Y3y 2y
B EAESD 0.7MPa 2 = B < uNG@R
W E 5 1.0MPa PN OYRRUF 2~ JWE.
ERE 5~Max.250C ® B L B gasn—owiaslclEe
B EE 50~200mm/s B U A = JIS 6H.68
s |EANAN | 619000/ (VUV5BG125088) | & B 5 U R | JvRRIU—R
2 [okEn | 653000/3 (Y580 125088) | 3 AmRORMEHG. BIECREBLET,

BN AR ES

CE NN, L(LL+XbE—7) C A
[N 4-M F2_ EE EE Fi_ B Bl Al

IRV .
e | & LTSS S =B

I

I

I

1

I

1
L ¢D |
4DD1

1
1
I A\
1 MM
R e ST
: @Em)
BIAT mm
B9 & 1 % B &
Fama B LL © A A B Q B MM D | DD, EE E Fi F2 N M NN
4 40 109 | 30 20 17 21 13 7 | M1ax1.5 [ 16 47 Rels 55 17 14 2 [ Mex1 10
4 50 117 | 35 25 22 22 17 10 | M18x1.5 | 20 55 Re% 65 19 15 49 | m8x1 12
4 63 117 | 35 25 22 22 17 10 | M18x1.5 | 20 55 Re% 75 19 15 59 | M 8x1 12
4 80 120 | 50 35 32 28 24 12 | M26x1.5 | 30 75 Rels 100 15 15 76 | MI12x1.5 16
$100 120 | 50 35 32 28 24 12 | M26x1.5 | 30 75 Rels 116 16 16 %0 | MI2x1.5 16
$125 131 60 35 32 36 30 12 | M26x1.5 | 35 80 Rels 143 18 18 15 | MI14x1.5 19
$140 145 | 80 50 47 48 32 18 | M36x1.5 | 40 85 Rels 160 20 20 125 | MI16x1.5 23
$160 151 80 50 47 48 32 18 | M36x1.5 | 40 85 Re% 176 20 20 142 | MI16x1.5 23
4180 161 85 60 57 50 41 20 | M45x1.5 | 50 | 110 Re% 198 20 20 185 | M20x1.5 27
$200 161 85 60 57 50 41 20 | M45x1.5 | 50 | 110 Re% 220 20 20 180 | M20x1.5 27
PHEEHBR XA - o [
REXE T108-0014 03-3454-1711 KDNV / IIIIGIIII 515,
HEHBREZ478 TTHIVEN RUA L0
KBR3ZIE T530-0012 2@06-6373-6701
KRHGIELEZHI-1-4 BREa4—3IFILEN iih%‘#fﬁ B022-215-1195
FEEE  T732-0052 72082-568-0071 Iigﬁgm ggﬁggg;ﬁg}
ILETREAAT1-12-20 & & CILEXRATE L LEEEEF B052-581-6541
E B # T663-8133 BO798-48-5931 gipmmsr  ©076.233-1411
=M EHRAT4-97 EEEF  B§087-835-0411 2009.02
IEBE¥F  ©082-568-0071 CONFOYFFEEUICKETT BT ENBOETDTTTRIEEW

URL=https://www.konan-em.com/ e AME LR B093-541-0281 2013.04-2k(D4)-K




NRAII AL XK

CP61HS HERAIVY

EHEEQE

85T — MY LB
LB-®40~200

[E NN L(LL+ZX bR —2) C A

#D
#DD,
.

<
<
H

=

= =

, I o AT

377 |

4~ uu Wi W Q
z Li(L+2w) A =+2 z ’ (2@h)
|

Bif7:mm
27 & 8 o+ & ZHEEETiA B0
sagme s LL| C | AJAa [ B [a]Bi MM D [pD1| EE E|[F1[F2[N M NN[uul z W [TT]H [wi|g7
¢ 40 |109] 30|20 |17 |21 [13| 7 [M14x15| 16 |47 | Re1/4 | 55| 17 14|42 | mex1 | 10| 40|15 10| 4 |40 |30 [300
¢ 50 |117| 35|25 |22 |22 [17 |10 [M18x1.5| 20 |55 | Rc3/8 | 65| 19| 15|49 | mex1 [12| 45|15 10| 6 | 45 |30 [300
¢ 63 |117| 35|25 |22 |22 17 |10 [M18x1.5| 20 |55 | Re3/8 | 75| 19| 15|59 | mex1 [ 12|55 |15 |12 | 6 | 55 | 35 300
@ 80 |120| 50|35 32|28 |24 |12 [M26x1.5]30 |75 | Re1/2 |[100] 15| 15 | 76 [M12x1.5] 16 | 71 |15 [ 15| 6 | 60 | 35 [400
100 |120] 50|35 |32 |28 |24 |12 [M26x1.5[ 30|75 | Re1/2 [116| 16| 16 | 90 [M12x1.5[ 16 | 85 | 15 [ 15 | 6 | 75 | 35 [400
¢125 |131|60 |35 |32 36|30 |12 [M26x1.5] 35|80 | Rc1/2 [143] 18| 18 [115|M14x1.5] 19 [100| 20 [ 19 | 6 | 85 | 45 |400
@140 |145| 80 |50 |47 |48 |32 |18 [M36x1.5] 40 | 85 | Rc1/2 [160] 20 | 20 [125 [M16x1.5| 23 [112| 25 [ 24 | 9 [100] 55 |400
160 |151| 80|50 |47 |48 |32 |18 [M36x1.5| 40 | 85 | Re3/4 |176| 20 | 20 [142|M16x1.5| 23 [118] 25 [ 24 | 9 |105] 55 [400
180 |161| 85|60 |57 |50 |41 |20 [M45x1.5] 50 [110| Rc3/4 |198] 20 | 20 [155 [M20x1.5] 27 [ 132| 30 | 28 | 13 [125] 70 |500
$200 |161| 85|60 |57 |50 |41 |20 [M45x1.5] 50 [110| Rc3/4 |220] 20 | 20 [180[M20x1.5] 27 [150| 30 | 28 | 13 [135] 70 |500

NS=A R TC
TC-$40~200

L | P2 L NN L (LL+2+E—7) c A
o m]3 S R
N Fa FE EE Fil B B: A
15 5, 1
7 FO B
cl \ u_r  — u_r]r
= |2 2 4 8 f 4 ol &
ol X% T -t I 1 - -| g
3 6 8 & s
| -
B\ 1
| S _ -
H—H B L
37 ' 7 . 3 Q
4-M
7 (o)
Bifir:imm
%) A & B T+ & XHEETE Bl j"‘ff T’ff
comalgllL]C A A | B QB MM D [DD1| EE | E |F1|F2| N M NN[G [P [P2|L1| X [xx]r [f7]szlrx
wiE

¢ 40 [109|30 (20 |17 |21 |13 | 7 |M14X1.5/ 16 | 47 |Rc1/4| 55 | 17 | 14 | 42 | M6X1 10 |22 |58 |65 | 18 | 16 | 26 | 1.5 |300 | 49 | 47
¢ 50 [117|35 |25 |22 | 22|17 | 10 M18x1.5| 20 | 55 |Rc3/8| 65 | 19 | 15 | 49 | M8X1 12 128 |70 |80 | 18 | 16 | 26 | 1.5 |300 | 58 | 51
¢ 63 |[117|35 (25|22 |22 |17 | 10 |M18%X1.5/ 20 | 55 |[Rc3/8| 75 | 19 | 156 | 59 | M8X1 12 |28 |84 (10022 | 20 | 30| 2 |300 | 58 | 51
¢ 80 [120|50 |35 |32 |28 |24 | 12 |M26x1.5| 30 | 75 |Rc1/2{100| 15 | 15 | 76 [M12x1.5| 16 |32 |104|112| 28 | 25 | 35 | 2.5 |400 | 60 | 53
¢100 |120|50 |35 |32 |28 |24 | 12 |M26X1.5/ 30 | 75 |Rc1/2|116| 16 | 16 | 90 [M12x1.5| 16 | 37 |124|136 33.5|31.5| 44 | 2.5 |400 | 69 | 62
¢125 (13160 |35 |32 | 36|30 | 12 |M26x1.5| 35 | 80 |Rc1/2|143| 18 | 18 |[115|M14x1.5 | 19 | 40 {160 (170 (33.5|31.5| 50 | 2.5 |400 | 72 | 65
¢140 |145/80 |50 |47 | 48 | 32| 18 [M36X 1.5/ 40 | 85 |Rc1/2|160| 20 | 20 |[125|M16x1.5 | 23 | 45 |180|180 |37.5|35.5| 60 | 2.5 |400 | 80 | 73
¢160 |151|80 |50 |47 | 48 | 32| 18 [M36X 1.5/ 40 | 85 |Rc3/4|176| 20 | 20 |142|M16Xx1.5 | 23 | 45 |200 |200 |37.5|35.5| 60 | 2.5 |400 | 80 | 73
¢180 (16185 |60 |57 | 50 | 41 | 20 |[M45X%1.5| 50 |110|Rc3/4|198| 20 | 20 |155|M20x1.5 | 27 | 50 |220|224 | 50 | 45 | 60 | 3 |500 | 86 | 75
¢$200 (16185 |60 |57 | 50 | 41 | 20 [M45%1.5| 50 |110|Rc3/4|220| 20 | 20 |180|M20x1.5 | 27 | 50 |240|250| 50 | 45 |60 | 3 |500| 86 | 75




BT &R

Oy FMUTSVIR FA
FA-940~200
\
vV NN L(LL+2bA—2) c A
[E F2 EE EE Fr B B A
LN 4—4) T
it 4
1,5 1
: D)\ e - =i
|
w| 2 2 L 4 i 8 ) ) 4 1 T”A Oio,
> 6 8 = 2
N @ P ;J - \nm
37 7 3 0
(2m@rh)
4—M
BAImm
o9 x # ® T & ZREEETE Mo
a8 LL]| C| A A ] B]Q |B MM D |DD1| EE | E | F1 [F2 [ N M NN| VvV [W|E |J |T]Ju|RY

¢ 40 |109| 30|20 | 17|21 |13 | 7 |M14x15| 16 | 47 |Rc1/4 | 55 | 17 | 14 | 42 M6 X1 10 [100| 80 | 55 | 9 | 10 | 40 |300
¢ 50 |117| 35|25 | 22|22 |17 | 10 [M18x1.5| 20 | 55 |Rc3/8| 65 | 19 | 15 | 49 M8 X1 12 {110 90 | 65 | 9 | 10 | 45 | 300
¢ 63 |117| 35|25 | 22|22 |17 | 10 |[M18X1.5| 20 | 55 |Rc3/8 | 75 | 19 | 15 | 59 M8 X1 12 (130|112 | 75 | 11 | 10 | 55 | 300
¢ 80 |120| 50 | 35 | 32|28 |24 | 12 |M26x1.5| 30 | 75 |Rc1/2|100| 15 | 15 | 76 | M12X1.5| 16 | 150 |125|100 | 14 | 14 | 71 | 400
¢100 (120 50 | 35 | 32 |28 |24 | 12 |[M26x1.5| 30 | 75 [Rc1/2 |116| 16 | 16 | 90 | M12x1.5| 16 |185|155 116 | 14 | 14 | 85 |400
¢125 13160 |35 | 32|36 |30 | 12 [M26x1.5| 35 | 80 |[Rc1/2|143| 18 | 18 |115|M14x1.5| 19 | 220|185 |143 | 18 | 14 | 100 | 400
¢140 [145| 80|50 | 47 | 48 | 32 | 18 |[M36%X1.5| 40 | 85 |Rc1/2 |160| 20 | 20 |125|M16X1.5| 23 | 255|212 |160 | 22 | 20 | 112 |400
¢160 [151| 80 | 50 | 47 | 48 | 32 | 18 |[M36x1.5| 40 | 85 |Rc3/4 |176| 20 | 20 |142 | M16x1.5| 23 |275|230 (176 | 22 | 20 | 118 |400
¢180 [161| 85|60 | 57 | 50 |41 | 20 |[M45x1.5| 50 [110|Rc3/4 |198| 20 | 20 |155 | M20x1.5| 27 | 320|265 198 | 26 | 25 | 132 |500
200 |161|85[60 | 57 | 50 | 41 | 20 |M45%X1.5| 50 | 110|Rc3/4 |220| 20 | 20 |180 | M20Xx1.5| 27 | 335|280 |220 | 26 | 25 | 150 | 500

Ay Ml SV IR FB
FB-940~200

W T L(LL+XkA—%) c A
UE Py Fa EE EE Fi| B B, A
ON —— NN
115 5 1
7 ~ 4 i W
[/ > O :lfj: - 'L'_f_l.'
i
(N L ]
: =
S 2 L 4 B 8 _ 4 ol &
Hs 6 KJ s =8
| &
: : \ O\
+ y '_‘ — _ _
QN 27‘ ) \ MM
7 3
37 0
2
i (emh)
BfIimm
B A 2+ & *HEHEETE Sl
cemms[IL[ C| A A | B]aQ B MM D |[ppi| EE | E [ F1 [F2 [ N M NN|[V [w]|[E]|]J]|]T]|ul|R?

¢ 40 |109| 30|20 | 17 |21 |13 | 7 |[M14x15| 16 | 47 |Rc1/4 | 55 | 17 | 14 | 42 M6 X 1 10 |100| 80 | 55 | 9 | 10 | 40 |300
¢ 50 |117|35 |25 |22 |22 |17 | 10 |[M18X1.5| 20 | 55 |Rc3/8 | 65 | 19 | 15 | 49 M8 X1 12 1110 90 | 65 | 9 | 10 | 45 | 300
¢ 63 |117|35 |25 |22 |22 |17 | 10 |[M18X1.5| 20 | 55 |Rc3/8 | 75 | 19 | 15 | 59 M8 X1 12 1130 (112| 75 | 11 | 10 | 55 | 300
¢ 80 |120| 50 | 35 | 32 |28 |24 | 12 |[M26X1.5| 30 | 75 |Rc1/2 |100| 15 | 15 | 76 | M12Xx1.5| 16 | 150|125 |100 | 14 | 14 | 71 |400
¢100 [120| 50 |35 | 32|28 |24 | 12 |M26%x1.5| 30 | 75 |Rc1/2 [116| 16 | 16 | 90 | M12X15| 16 | 185|155 |116 | 14 | 14 | 85 |400
¢125 |131| 60|35 | 32|36 |30 |12 |[M26%x1.5| 35 | 80 |Rc1/2 [143| 18 | 18 [115| M14x15| 19 | 220|185 |143 | 18 | 14 | 100 | 400
¢140 [145| 80 | 50 | 47 | 48 | 32 | 18 |[M36X1.5| 40 | 85 |Rc1/2 |160| 20 | 20 [125| M16x1.5| 23 | 255|212 |160 | 22 | 20 | 112 |400
¢160 |[151| 80 | 50 | 47 | 48 | 32 | 18 |M36x1.5| 40 | 85 |Rc3/4 [176| 20 | 20 (142 | M16X1.5| 283 | 275|230 (176 | 22 | 20 | 118 |400
¢$180 |[161| 85|60 | 57 | 50 | 41 | 20 |[M45X1.5| 50 |110|Rc3/4 198 | 20 | 20 [155| M20x1.5| 27 | 320|265 |198 | 26 | 25 | 132 | 500
$200 [161| 85|60 | 57 | 50 | 41 | 20 |[M45%X1.5| 50 |110|Rc3/4 |220| 20 | 20 |[180 | M20x1.5| 27 | 335|280 |220 | 26 | 25 | 150 | 500




NAYTA XER
BiTEH

CP61HS MRV

HERQREREEEE

—lUILERXR CA
CA-940~200
[E
[IN R L(LL+ZbE—=7) C i_
Di=g:} 4-M K | TIF:, EE EE Fi|l B B Ay
/ NN
15 #DDH10 ? r ™ l
17 } N — jras IR EE N = I
|| 7@ AT e
, 4 ™ 8 4 ale
I8 B B =2
B\
_ _ IMM
Q
7 3 (ommh)
AR | 440~410004 4 0y KIZCBE B U ABBIEICRYET.
B{I:mm
B x % W I & ZREETE =
B LL| C|A[Aa[B[Q |Bi MM D |[pDi] EE [ E [ F1 [F2 [ N M NN |[DD[D1 [ R [ T [RRI] K |17
¢ 40 109| 30 |20 | 17 | 21 13 7 |M14x15| 16 | 47 |Rc1/4 | 55 | 17 | 14 | 42 M6 X1 10 | 10 | 15 | 35 12 | 11 15 |300
¢ 50 |117] 35|25 | 22|22 [17 [ 10 [M18x15| 20 | 55 |Rc3/8 | 65 | 19 | 15 | 49 | m8x1 |12 |12 | 18 |35 | 12 | 13 | 18 |300
¢ 63 117 35 |25 | 22 |22 |17 | 10 [M18X15| 20 | 55 |Rc3/8 | 75 | 19 | 15 | 59 M8X%1 12 | 16 | 25 | 45 15 [17.5| 24 |300
¢ 80 120| 50 | 35 | 32 | 28 |24 | 12 |[M26%x1.5| 30 | 75 |Rc1/2 |100| 15 | 15 | 76 | M12X1.5| 16 | 20 |31.5| 55 18 | 22 | 30 [400
$100 [120]| 50 | 35 | 32|28 |24 | 12 [M26x1.5| 30 | 75 |Rc1/2|116] 16 | 16 | 90 |M12x15| 16 | 25 |355| 60 | 20 |27.5| 33 |400
$125 (131 60|35 | 32]36 |30 | 12 [M26x1.5| 35 | 80 |Rc1/2 | 143] 18 | 18 [115 | M14x15| 19 | 25 |355| 65 | 20 |27.5| 37 |400
¢140 [(145| 80 |50 | 47 | 48 | 32 | 18 |[M36%X1.5| 40 | 85 |Rc1/2 |160| 20 | 20 |125 | M16X1.5| 23 |31.5| 40 | 80 | 25 | 35 | 40 |400
$160 [151]| 80|50 | 47 | 48 |32 | 18 [M36x1.5| 40 | 85 |Rc3/4 | 176 20 | 20 |142 | M16x15| 23 [31.5] 40 | 80 | 25 | 35 | 45 | 400
$180 [161] 85|60 | 57 | 50 | 41 | 20 [M45x1.5| 50 | 110|Rc3/4 | 198] 20 | 20 [155 | M20x1.5| 27 | 40 | 50 [100 | 31 | 44 | 50 |500
$200 [(161| 85|60 | 57 | 50 | 41 20 |M45%x1.5| 50 |110|Rc3/4 [220| 20 | 20 (180 | M20x1.5| 27 | 40 | 50 |100 | 31 44 | 50 |500
I LVERR CB
CB-940~200
e
N __R ) L(LL+X~A—7) C A
v =83 ﬂ LK TR EE EE Fil B B, A
0483 | a-m NN
115 ‘ #DDH 10 ‘ 5 1
; ; e S
IV ik 5
P m;
] N 8 : 4 K7 als
T 8 o
R
\
@l e ——— =
¢l | i@ S
37 / 7 3 (@)
RR \ $40~41000% A Oy RIZCBE B UABBEICAY ET,
Bifi:mm
B9 X % M I & ZReETE =
e g[LL [C |A A1 |B|Q|B1| MM | D |DD1| EE | E |F1 | F2 | N M NN|[DD[Di [R | T |RRI] Y | K |R7
¢ 40 (109|30 |20 |17 | 21 13 7 M14x15| 16 | 47 |Rc1/4| 55 | 17 | 14 | 42 M6 X 1 10 | 10 | 15 | 35 12 | 11 30 | 15 |300
¢ 50 |117|35 |25 |22 | 22|17 [10 [M18x1.5[ 20 | 55 |Rc3/8| 65 | 19 | 15 | 49 | mM8x1 |12 | 12 ] 18|35 | 12| 13 [355] 18 [300
¢ 63 |117|35 |25 |22 | 22 |17 |10 [M18x1.5] 20 | 55 |Rc3/8| 75 | 19 | 15 | 59 | M8x1 | 12 | 16 | 25 | 45 | 15 [17.5] 50 | 24 |300
® 80 |120|50 |35 |32 | 28 | 24 | 12 [M26x1.5] 30 | 75 |Rc1/2|100| 15 | 15 | 76 |[M12x1.5 | 16 | 20 |31.5| 55 | 18 | 22 | 63 | 30 |400
$100 [120]50 |35 |32 | 28 |24 | 12 |[M26x1.5] 30 | 75 |Rc1/2[116] 16 | 16 | 90 [M12x1.5 | 16 | 25 |35.5] 60 | 20 [27.5] 71 | 33 [400
125 |131 |60 [35 |32 | 36 | 30 | 12 M26%X1.5| 35 | 80 |Rc1/2{143| 18 | 18 | 115|M14x1.5| 19 | 25 [35.5| 65 | 20 |27.5| 71 37 400
®140 [145|80 |50 |47 | 48 | 32 | 18 |M36x1.5] 40 | 85 |Rc1/2[160] 20 | 20 | 125|M16x1.5 | 23 [31.5] 40 | 80 | 25 | 35 | 80 | 40 [400
160 [151 |80 |50 |47 | 48 | 32 | 18 |M36x1.5| 40 | 85 |Rc3/4|176] 20 | 20 | 142|M16x1.5 | 23 [31.5] 40 | 80 | 25 | 35 | 80 | 45 [400
180 (161 |85 |60 | 57 | 50 | 41 | 20 M45%X1.5| 50 |110|Rc3/4[198| 20 | 20 | 1565|M20%x1.5| 27 | 40 | 50 |100 | 31 | 44 |100 | 50 |500
200 |161 |85 |60 | 57 | 50 | 41 | 20 M45%x1.5| 50 |110|Rc3/4[220| 20 | 20 | 180|M20x1.5| 27 | 40 | 50 |100 | 31 | 44 |100 | 50 |500




	名称未設定-9
	5234_t_cs6_181206
	5234_t_check_cc_181127
	02
	03
	04



